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8LE7149 /AM—308 12,800/ 10,800|%~%#a—r|P—88Z 2,000 2,000
8tE349 |AM—508E 14,800 12,800(<1o%ma—r P—8I 3,800 2,700
8L349 |AM—708E 27,800 20,800(|v1oZ#a—F P—8S2 6,000/ 6,000
B8E349 AM—UD1 13,800| 11,800(|v1%ma—r D—6MY 3,0000 2,700
E—EILTA7|IX—5G 15,800 13,800 14Z#ma—K D—6MY2 3,000/ 3,000
E—EILIS47|FX—6 11,800/ 10,800( %+~ %i#a—~ D—80 1,800 1,500
E—EILTAY|FX—7500 14 .800| 13,800( <~ %i#a—~ D—88C 2,800/ 2,000
E—ELTA78E FMU— 1 5800 5,800|v14%#a—r D—88I 2,800, 2,000
T L1788 SWU—1 6,800 5,800(v14%H#a—F| D—88K 2,800, 2,000
INA9IA49 HP—L1(]) 9,800/ 9,800(v14%H#a—r| D—88Y2 2,800, 2,000
N4 HP—L1(K) 9,800/ 9,800(vf4%H#a—r| D—88Y3 2,800, 2,000
INAUBEE [HS—21F 9,800, 9,800(|%14%ma—r D—8MC 2,500, 2,000
INAYBEE [HS—SP1 7,000 7,000|[= 1o Z#a—K|D—8MI 2,500, 2,000
INAUBEHE BS—12 1,800 1,800(|= 14 %Z#a—F D—8MK 2,500, 2,000
NAUB8&E BS—26L 25000 1,800(|<14%a—r D—8MY 2,500/ 2,000
NAYBEE BS—26N 2,500 1,800|| %1 ¥ % #Ha—K J—88MI 2,800 2,300
NAYBEE BS—28 2,500 1,800|| %1% #Ha—r|J—88MK 2,800 2,300
NAYOBE |BS—5 1,800 1,800|| %1 ¥ %&#a—r|J—88MY 2,800 2,300
NAHE |BS—S18(K) 15,000 15,000(<1o%ZHma—rJ—8MK3 3,700 3,700
NA(BE BS—S18(S) 15,000/ 15000 41&% |AK—8S 10,000, 8,500
INMHEAE | BS—S18(S2) 15,0001 15,000 Z4/L%— MFL—10 3,700 3,700
INA{UBEE C—1S7 9,800, 9,800 Z1/LB2— MFL—2 2,700/ 2,700
NAYBE#E |C—RES7 4,200 4,200 74J)LR— [MFL—30D 9,000 7,300
TAUEHRI—F | P—84K 2,000 2,000 Z£mfr OM-—1 OP 4,800
I %EHI—F | P—86K 2,000 2,000f *onft |OT—3 4,800, 4,800
A HEHRI—F|P—87S 2,000 2,000 Zmih |PS—3 1,800 1,800
A HEHRI—F | P—87Y 2,000 2,000 Zmih PS—6A 1,800 1,800
I HEHRI—F | P—88A 2,800 2,000 =i VM—240 26,800, 23,800
T4 EHI—F| P—88J3 4400/ 3300]| *mftt ws—1 1,200 1,200
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